@ ;%:% Multiply decimals by 10,100,1000

Name: Date: Score:
1.98 x 1000 = 6.231 x 100 =
7.605 x 10 = 4.087 x 1000 =
3.345x 10 = 10.383 x 10 =
4.979 x 10 = 2.797 x 1000 =
4.631 x 1000 = 3.106 x 10 =
2434 x 10 = 6.416 x 100 =
8.264 x 1000 = 10.473 x 10 =
3.146 x 100 = 7.16 x 1000 =
7.053 x 1000 = 6.806 x 10 =
8.335x 10 = 7.82 %100 =
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@ %% Multiply decimals by 10,100,1000

Name: Date: Score:
1.98 x 1000 = 1980 6.231 x 100 = 623.1
7.605 x 10 = 76.05 4.087 x 1000 = 4087
3.345 x 10 = 33.45 10.383 x 10 = 103.83
4.979 x 10 = 49.79 2.797 x 1000 = 2797
4.631 x 1000 = 4631 3.106 x 10 = 31.06
2434 x 10 =24.34 6.416 x 100 = 641.6
8.264 x 1000 = 8264 10.473 x 10 = 104.73
3.146 x 100 = 314.6 7.16 x 1000 = 7160
7.053 x 1000 = 7053 6.806 x 10 = 68.06
8.335 x 10 = 83.35 7.82 x 100 = 782
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